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.1  cilelddh! PIvd I sRIeR 31T ?

Which of the following statament is correct?

31) tat e qlehadic ST Aehdl. [Sound can move through vacuum.]

) egrar qn Erraﬁm TQJTQQ:[Y?}[ ST 3T¥AdI.[ Sound travel faster in solid than air.]

1.%h A[OnlyA] 2.%th B[OnlyB] 3.373MTB [BothA&B] 4. Iuial ATel [None of the above]
U.2 SR a9 9 JTacH 2 Hehard YUt Bl SRS dR e aRaRAl ——————— g,

If 9cycles of sound waves completed in 2 second then frequency is --------- .

1. 18Hz 2.45Hz 3.4Hz 4. 81Hz
.3 g aEefiel gaea BHY S8 g hHT gt YT ———————— TEUTAT.

Sound wave where air is atlow pressure and low density is called ---------

1. ﬂfﬁ?Fr[Compressmn] 2. foRe™ [Rarefaction] 3.3TdeT[Trough] 4. ?JTa'cﬁ:l'IE'T[None of the above]
U. 4 °%c g PAgIEC A8 fohdll BT ?

Convert40°cinto degree fahrenheit ?

1. 31215 2.104 3.102 4. 4.72
U.5  Narciieiddhl PIv ara sRIeR 37TE.

Which of the following statementis correct ?
A) TToTTlT forf3re ISAT & gdUeT STRT 317, [Spcific heat of water is more than air]

B) fafire S S| Aefiet v (Joule/kg®c) 3RTA.[SI unit of specific heat s (Joule/kg’c) ]
1.%h A [OnlyA] 2.Th B [Only B]
3.Ad B3 2gl [BothA&B] 4. g1 U ATEI[None of the above]
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9.6  IRAI(D FHlepR0 guf T,

3. -84l
Complete the chemical reaction.
Cacl, + Na,Co, —»[? |+ 2Nacl
1. CaCo, 2.CaCo;, 3.Na,0 4.Cl,
9.7 - 2 ST T ISTERVT 3T
————————————— is an example of ionic compound.
1.H, 2.H,0 3.Nacl 4.Ch,
9.8 SR XITGEUd e

fIcAg A a Y I1 10T Ted foTe ™ et 8ld S dR X d Y g 3FshH

In solution X blue litmus turns into red and in solution Y red litmus turns into blue then X and Y are
respectively -------- R solutions.

1. 31T, IFTRT [Acid,Base]

3. 31T, &R [Acid, Salt] 4. 8TR, 37T [Salt, Acid]
U.9 b SISl .

Find incorrect pair

1. feR-31Rafes 3= [Vinegar - Acetic acid] 2. A-ARIEIP 31T [Orange - Citric acid]

3. g —cifdes st [Tamarind-Lactic acid] 4. Tl -3 a=Tfeld 3TTF [Tomato-Oxalic acid]
U.10  Telicrih! gehid aTa PIor ?

2. JTRT, 3T+ [Base, Acid]

Which of the following statementis incorrect ?

A) 4 W%Ef ERIESISERSK! g Jl Gl'l?r.[AII veins carry deoxygenated blood.]
B) IcTHe $8UT 1A [Veins have Valves]

1.%h A[OnlyA]
3.AdBTrRIE! [BothA&B]
.11 ATl Jehrl Hrf HIord ?
Which of the following are functions of blood?
1. El'l?lj gRagd [Transport of gases] 2. QYU T dg [Transport of nutrient]
3. qE™ 999 [ Thermoregulation |

2.%th B [Only B]
4. g Uy ATEL [None of the above]

4.R0e1 94 [All of the a bove]
712 —————— 3T Ueet Thues! ST
------------- organell have single membrane.
IRSCEY [Plastid] 2. ety [Nucleus] 3. RfthaT [Vacuoles] 4. FIWIZF[ [Mitochondria]
.13 X 3N,
Identify X
(TRTPE) — ’ — 1.99flueet [Cellmambranl] 2. 9eRfRiteT [Cell wall]
Centriole 3. TgeIUAT [Mitochondria] 4. R<hiehT [Vacuole]
Nucleus, mitochondria etc.
(cheh, g 3.)
9. 14

— — SERIIE
&_J % Identify the diagram.
Q o) <

1. Tt HHA[Golgi complex] 2.FIHIRET [Lysosome]  3.dd [ Plastid] 4. T [Mitochondria]
9. 15  ThidIges! G 3Tl B NI ?

What will be you do during cyclone?




.16

17

.18

.19

.20

.21

.22

.23

.24

.25

1. AT §¢ BRI, [Lock your doors] 3. -84t

2. 95T § FxTed. [Shut down electricity]

3. Xfg3n et rerTad Hifed Vahd R&Tet. [Keep listing to radio update]
4. 31 U 94 [All of the above]

GTeIeUeh] VKT T TGHeh g,

Which of the following is not air pollutant.
1. So, 2.Co 3.0, 4.0,

-------------- is biological water Pollutant.
1. QUMTER [Weedicide] 2. dhlea-ed[Insecticide] 3. $iaTet [Algae] 4. 34T [Arsenic]

-------------- is not a noble metal.

1.9 [Gold] 2.7 [Silver] 3. U131 [Potassium] 4. IS [Platinum]
TeAleTichl PIoT aTer Fehid 37T ?

Which of the following statementis incorrect ?
A) STUTTT B+ SHT 3. [Nonmetals have low density.]

B)Cﬂalcijl eI 3TRAT. [Nonmetals have luster]

1.%h A [Only A] 2. %eh B[Only B

3.Ad BT 2gl [BothA&B] 4. g1 U ATEY [None of the above]
X=2,8,2 8 XITIAGHTd Solag - AoYUN 3 XX & ——————-

X= 2,8,2 isanelectronic configuration of X then element Xis -------------
1.Na 2.Cl 3.Mg 4. Al

GofteTtich! eIV ehioTel STIUT 37T ?

Which of the following is colloidal solution

1.5 [Milk] 2.fUd® [Brass] 3. 1% [Bronze] 4.f@TR [Vinegar]

AO, T AT 3d aR A T |Gl ———————

If AO, is acompound thenvalency of A is ---—----—-

1.0 2.2 3.3 4.4

3Tt eI STUHTRY Gefar.

Given diagram represents --------- atomic model.

N 1.9 [Bors] 2. BEXBIS [Rutherfords]
7\3 \ 3. gleed [Dalton] 4. ATFA-TI [Thomson]
\\~ i _ /l
~—

. 184

R efgeaNdl 74 W

g R g - - - —— -

Forelementtungsten ;24W

Number of neutron are -------

1.110 2.74 3.184 4.70

SR FAIRTAT SU31e 17 37T TR TN M HIaHed ——————— ST AT

Atomic numbers of chlorine is 17 then M shell of chlorine contains ------- electrons.

1.8 2.7 3.6 4.1
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9.26

Y.27

9. 28

9.29

9. 30

9. 31

9.32

WlefieTd<hY PIUTT a1y aRIeR 3T 7 3. -g@

Which of the following statement is correct?

A) Seiagi ¢ fae[daeT=aT Kl Clhlhg U Clhbles JaTed gidTd.

A) Electrons flow from negative terminal to positive terminal .

B) Aichcieh [efcl HaTg &1 & Clablehgy 3hUT ClehTebs Hafed .

B) Conventional current flows from positive terminal to negative terminal.
1.%h A[OnlyA] 2.%th B [Only B]

3.AdBTIglel [BothA&B] 4. 381 Yol ATE [None of the above]
RGTeATeAtdhT PIUTT AT aRIR 3MTR ?

Which of the following statement is correct?

A) TTHTEC Piel & PReIT [IeITaeTd U+ 31T 3.

A) Graphite is positive terminal in dry cell.

B) oY ISt &1 ofs 31Tt faeIaTaeTal 60T 31 31

B) Lead is negative terminalin lead acid cell

1.%<h A [OnlyA] 2.%h<h B [Only B]

3.AdB g glel [BothA&B] 4. g YUY A1E [None of the above]
ehdT SAIST e,

Find the incorrect pair.

1. fe[vaTe = gem/ Jag [Electric current = Coulomb/second]

2. faY9aiaR = @lec [Potential difference = Volt]

3.30Y = 3SR [Resistance = Ampere]

4. f%@acrm? = W [Electric charge = Coulomb]

U FofT HEHTd ATesT 91 3MesdT.

Find odd term regarding contact force.

1. gaeh1 g1 [Magnetic force] 2. g e [Muscular force]

3. cd 1T §of [Gravitational force] 4. TRyciep faegd 5ot [Electrostatic force]
DIVICH 3Melt aTaTeRvi g geffad ?

Which diagram represents atmospheric pressure ?
1. 2.

3.

Presure (S1d) —»
Presure (Sd) —»
Presure (T€) —»
Presure (S1d) —»

Height (Sd1)— Height (S —
WletleTtehT I SIS dedid ISTERUT 3118 ?

Which of the following is an example of Archimedes principle ?

Height (31) = Height (Seft) >

1. gAY [Hygrometer] 2.§?4?I'IHTCI{T [ Lactometer]
3. 91UigSt [Submarine] 4. 30T 94 [All of these]
RgTeATettids! PIvTT aTa aRIsR 3MR ?

Which of the following statement s correct?

A) SIS AR 3G 1Ie I 3.

A) Down’s syndrome is hereditary disease

B) HYHE g1 RIS I 37T

B) Diabetes is an infectious disease
1.%%h A [OnlyA] 2.%h B[OnlyB] 3.AdBgllal [BothA&B] 4.8t Yehl AITé! [None of the above]




9. 33

Y. 34

9.35

9.36

9. 37

9. 38

9. 39

9.40

9. 41

9.42

9.43

X BTN AT, (v ) (Ferdt cgrerean) s -sdl

Flavi Vi
IdentifyX Ades Aegypti avivirus

(cfter )
Acute Fever
1.7 [Dengue] 2.7eiRAT [Malaria] 3. a8 Ul [Swin Flue] 4.9l [Cholera]
RIS SIST 3o,
Identify correct pair .
1. 7I7RT — S/8USMI [Monera - Multicellular] 2. MfexeT — tuefi [Protista - Unicellular]
3.%ad — YPIIKIATE [Fungi - Photosynthesis] 4. groft — Qefifrfiet [Animal - Cell wall]
AT 3MeoRdT ?
Whoam1?
A. |t Ui ame. [lamunicellular]
B. Ht anfddhgd [| am Prokaryotic]
C. =Y et 3TI%.[I am Heterotrophic]
1. FANGISISM [Clostridium] 2. 31T [Amoeba] 3.3 [Euglena] 4. IRIFISH [Paramecium]
WTET INR ———————— ﬂ@'&ﬁ?ﬁ Coronadisease is caused because of------------- .
1. fasToy [Virus] 2. SfleT0] [Bacteria] 3. JCISNaT [ Protozoal] 4. %a% [Fungal]
“4G” gl el ———————- oft FTEia a1

“4G” term is associated with ----------- :

I.Eg\’%ZFﬁ [Mobile] 2. eifege [Television] 3.34Udg [Satellite] 4. W‘f [Nuclear energy]
i -2"" A Uehed SMfBRY 1o 8l 7

Who were the project directors of “Chandrayaan-2" ?

A. g+ [M. Vanitha] B. Rg &RuTeT [Ritu Karidhal] C. &. R1a9[K. Sivan]

1.%h A[OnlyA] 2. HhASTIUTB [OnlyA &B]  3.%th B 3TMUTC[OnlyB&C] 4. A,B,C[A,B,C)]
SIATC gaMHM ——————— T ATSIRT hedT STl

World Meteorological day is celebrated on----------------
1.21 91 [21"March] 2.2291 [22™March]  3.23 A [23°March]  4.24 HTd [24"March]

IR T=TT 2N HIoft AT ?

Who invented Sonography machine ?
1. 1an Donald 2.Raymond Damadian 3.Rontgen 4. Thomas Edison
RgTeilet [T YR RISt 3T, Identify scientist form following statement.

A. T IR TEITe Fee REPRI AT RUATT 3MTel. [Awarded Nobel prize for physics.]
B. T HRART JREPRI SRdie] FHIT PRUITT 3ATef. [Also awarded with bharat ratna.]

1. 31.Q.Y1. 3. 3feget Phet™ [Dr.A.P.J. Abdul kalam] 2. ST, B} 9797 [Dr. Homi Bhabha]

3. er9E. = [Dr.C.V.Raman] 4. 1. U1 I1ge [Dr. Kalpna Chawla]
——————— T FHIT PRUITATS! STU[SHT! GRC6THE Sl o AATHRRUT HRUIT ATl 37T
Atomic energy establishment trombay (AEET) is renamed after ----------- to honour him.

1. 31.Q.dY.51. 315l Bet™ [Dr.A.P.J. Abdul kalam] 2. 1. gt 91T [Dr. Homi Bhabhal

3. 8131t = [Dr. C.V. Raman] 4. 8. faepd AR [Dr. Vikram Sarabhai]

Geftel [AUTTas RS 3Tl
Identify scientist from following statement.

A. TN Sehl JMTed ST G NI &1 Alele] YREPR fHeSTaT.
A. Only one person to win nobel prize in a different fields.
B. 11T NSI3M etgedTar SN Frdel.

B. Who discovered element Radium.
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Y. 44

1. ST, 8=} 9797 [Dr. Homi Bhabhal] 2. 3. faepd ARTTS [Dr. Vikram Sarabhai] 5. - 8@t
3.8l ﬁ?“fzreﬁr [Dr. Marie Curie] 4. YT USIRA [Thomas Edison]
ST, UUT.SH. 3Teget PelRGHI Eetlefdeh! PHIvr faer / faum aRieR 3Ted ?

Which of the following Statement about Dr. A.P.J. Abdul Kalam is /are correct?
A ET ' IRAT foRITE e 59 TgU[d Sleswdel ST,

A.Heis also known as “Missile man of India”

B. TIRERUT -2 JUTAVHE i+ Hgeard! fept Fwraet.

B. He played pivotal role in pokhran-2 nuclear test.

1.%h A[OnlyA] 2.%<h B [Only B]

3. ASTITOT BS2 2! [Both A&B] 4 g8t T ATEL. [None of these]
——————— T AR JTT RIS SIVTIT UfeedT HeledT 3Ted.

--------------- is first woman of indian decent to go space.
1.4 1T fdea=q [Sunita Williams] 2. YT didell [Kalpana Chawala]

3. 9% R [Marie Curie] 4. gD ATE [None of the above]

T. 46 TCId 7 SHUIRY AT STiel 3ToowT.

9. 47

9. 48

9. 49

9.50

9.51

9.52

Find the odd numerical pair.

1.32-4 2.36-3 3.52-6 4.15-5
A . . . .
= ° fig A afig G amelie i sicr fépctt 2
13 G What will be the minimum distance between pointA and G .
D 2 .
9 je’ 1.41 2.82 3.35 4.85

E 15 F
HRegTHTforent quf @hvT. Complete the series.
2,1,3,5,9,8,16,127

1.28 2.24 3.25 4.36
TRfIgTeAT STRIT QAT IR AR foTgl. Find the missing number than can replace the question mark.
13 |73 |53
43| 3 | 2 1.63 2.93 3.2 4.123
103 83 | 23

UfgedT ySTa SA=T UGTel ST AU 318 IR [RA=AT gt 91T erell 3g o HeY fedd i ug
U 3% @], Observe the relation of first term with the second term . The same relation of
third termis with the fourth term. Find the fourth missing term from the given options.

10:101: : 11:?

1.111 2.112 3.122 4.212

ISt JeATeT AR ' ST SIFHTeA o HTs! 9 JT TTed AT ST . SR dSieti< 3ToTd ad 48
Y SRICITR HeTrd 5 9T gt a3 fabet ?

Father tells his son “ | was twice of your present age when you were bron” If the father is now 48 years
of age.How old was the boy 5 years ago?

.11 a¥ [11years]  2.16 T8 [16 years] 3.21a% [21years]  4.43 TS [43years]

QISTRIET 3Tl I TguT Alepi fapelt ?
How many quadrilaterals are there in the adjacent figure?

1.105 2.60 3.87 4.45




ForQ.53to0 55 3. -84t

TG STRIT JUTRY TR HREAT Qe R oTehT guf &,
Find the correct number that will complete the number series .
16, 22, 26, 38, ?, 74

1.58 2.60 3.62 4.48
122, 117, 108, 99, ?, 72

1.90 2.85 3.81 4.77

5,7,10, 15, 22, ?, 46

1.33 2.32 3.31 4.30

HSITRIT 7:30 dTolelel 31TRd. SR HedTerI HHe Pl IR 20T SRIad 3Rid R T TSIl JRIehIc]
PIUICH 2T SREAeA ?

Awatchreads 7:30. If the minute hand points North, in which direction will the hour hand point?

1. 39 [North East] 2. 9137 [North West] 3. ﬁﬁs_c?:r[South West] 4. 9feaq [South]
39Tt e G HRT Rl T Ueh HAT IS <. SReted] hdvd G HRT o AT Yeh HIT ot SiorTel ol
g AITt IReIeAT pebd Irgl S HRT o TUh! Teb R HO[elT ool SR HofelT 25 U9 b fHTell /el
TR ST et 371 e fesTatT. 2

Aparna cut a cake into two halves and gave one half to Ranjana. She again cut the remaining cake into
two halves and gave one part to Sanjana. finally she cut the cake with her in two halves again and one
part gave to Manju. If Manju got 25 grams of cake, what was the weight of the cake eaten by Ranjana?
1.200 2.100 3.50 4.75

000 C
0.0.0.0

6
100 81 64

1.27 2.29 3.34 4.26
319 BT J-RIGTAT el 37Te. HIdT & Se=R1ard! 98107 37e fTe Sierd arar Genm g 5wt Arard get
31T, hShRT 8T QIeTaraT AT 3712, d fSTeR 81 Hich=ra Jert 311g, R 319 fSTeRan hioy ?

Abhay is the son of Babanrao . Sita, who is the sister of Babanrao has a son Daulat and a dauguter
Manjri. Fakira is the maternal uncle of Daulat. Digambar is the son of Fakira. Then how is Abhay related
to Digambar?

1. geid |35 [Cousin] 2.9 [Nephew] 3. dThT[Uncle] 4.9 [Brother]
3IfIhd @ YRA AT THUT I TqT g faer e THuT IO=IET SR 31T, AT da= g feer arean
T SRIST g AR G A9 I IT=TT SO Ui 3MTe. AR g faer I Ygpur Scqere
U INdhad AT AT ST IS DI ?

The sum of income of Aniket and Bharat is more than chaitanya and Dinesh together.The sum of the
income of Aniket and Chaitanya is the same as that of Bharat and Dinesh taken together More over ,
Ankiket earns half as much as the sum of the income of Bharat and Dinesh .Then whose income is
Highest?

1. 31fSehd [Aniket] 2.9Rd [Barat] 3. Td=d [Chaitanyal] 4.f3391 [Dinesh]




ForQ.62to 64 3. -8at
XgTetiet M tdl ARSI 6o fraReleaT T ST @1

Observe the diagram and answer the following questions.

EORIIEICEIN

T.62 3.8 T R fohcft ger= Susit dietdm adt ?

How many students studding in std 8 can speak english?
1.7 2.16 3.14 4.23
.63 3. 8¢ dRIepuR ‘a1’ geverdia faemeff fandt amgd 2

How many students studing in 8" standard are from division ‘A’ ?
1.41 2.17 3.78 4.58
.64 3.8 RIpU=AT ‘31’ Jepeciiel fapett femea =T Syt aietar 3 ?

How many english speaker students from division ‘A’ are studding in standard 8 ?
1.87 2.41 3.16 4.25

ForQ.65t0 68
3 9.H1. IIS] SRAIel TThe! BT ebrd JM Ad JTofi Jaell 7R Al el g7 T 1 A.HY. T,
3Telel Bldves TG TTgT BlIhed S-idet. IT ATRIaR MUTRT WTefiel HeTd! ST &l

Awooden cube is painted by a single colour on all the six faces . The side of this cube is 3 cm. Itis cut
into smaller cubes of side 1 cm. Answer the following questions based on this statement.

. 65 fdclt G-TTaclt Sieheadra T IS HIT TMdelel SRAHe ?
How many cubes have three faces coloured?
1.4 2.8 3.12 4.6
T. 66 fohcll BrFTapelt Blehadiidl tich QI JSHT il 3RAcIel 2
How many cubes have two faces painted?
1.4 2.8 3.12 4.6
9. 67 U Uebd YSHAT il 3RAetel fohcll ialehed SRIcTST ?
How many cubes have only one face coloured ?
1.4 2.8 3.6 4.1
9. 68 Tehg! YSHIT AT Tl Slehaod Tl AT focll ?
How many cubes have no face coloured?
1.1 2.6 3.8 4.3
.69 HPIes! 9:00 T URY 2:00 RIS EBre=TesTa Al TRIpTeTe fdhell dasT Sterred! ?
From 9:00 a.m. to 2:00 p.m. how many times the minute hand will cross the hour hand of a clock ?
1.5 2.4 3.3 4.6
.70 feciean sngpiieh darda smRerde uforT uataigg fFaer.

Find the correct mirrorimage from the given alternatives .
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3. -84t

)

[ ‘\ o ‘\ °
N
°l ™\ PARN °

1. 2. 3. 4.
U071  foiean sngd qroardie ufifde feetea qafaidy s/ faer.

Find the correct waterimage from the given alternatives.

XX XX £X XX

.72 Q%rﬁiﬂzﬂav 1,2,5 d 10 T FHE AT g A1it 3med. ferdidier Id a9 g9 Aictell 3RIaT ot 5.9000/-
Tae! WRet! R fuerditciier gapur et facht 2

In a bag there is the equal number of notes and coins at Rs. 1,2,5, and 10 . Harsh counted the total
amountanditwas rs. 9000/- . How many total notes will be there in the bag?

1.250 2.500 3.25 4.200
ForQ.73to74
JARIgTeAT STt I HRET R
Find the number which can be put at the point of question mark?
.73 /\
2
{26 6
? 14
%
1.58 2.62 3.110 4.92
.74
1.92 2.81 3.83 4.82
9.75  TCKdiie géhid ug e,
Find the wrong term.
7, 15, 10, 18, 13, 22, 16
1.10 2.22 3.16 4.18

als als als als ats als afs
PRI

(a1 TeFufIde IR AT (Answer Key) 8/4 fRaa1d www.drevramanexam.com J7 JeRIECaR IUTY g5
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